oo
oo oboooooooog
Joooboooooouoobodgogn n.
a"1=1 (mod n) (%)
000000ac{l,2,...n—1}0000 (n—1)/2000
000Z)={ie Z,|gcd(i,n) =1}
0000 Z,={0,1,2,...,n—1}0000000 ®,0
rQyuy=xyld nUO00O0OOO
0000000 (Z;,®,)0000000000000000O
00000 ged(i,n)=100+£0000 ZX¥C Z,\{0}0O0O0O
000 |25 <n—1.
00000a(1<a<n0 x)0000000 ¢ € 2200
O000000e0 x)0000O0O0 a-a"2 =1 (modn).
O0000000ar=1 (modn)00 e« 200000000
ged(a,n) [ 1000 ged(a,n)=1. 0000 ee Z00000
00 (x) 0000 Zz2000o0oogoooo
B={beZ |tV'=1 (modn)}
000001eBU000B#40000000O00O0OOOOOO
0000Vz,y€ B, (zy)" =2 1=1-1=1 (mod n)
D00 z®,ye B. U000 BUO0O0 @, 00000000O00O;
e, (B,®,)000(S0)00000000 (B,®,)0 (Z:,®,)0
goidinUibouobddoooodoogon
dee ZF, " 1#£1 (modn).0000ce Z\BOOO B# Z*
(Le., (B,®,)0000 (25,®,)000000). 0000000
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000 B < |Zil/2 < (n—1)/2 .

000000D00002<a<n000000000000 000
000 (*)000 ged(a,n) =1000000000000000 nO
0000000000000 00000000000000000
0000000000000000-00001/20000000n
0000000000000000000
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